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QID : 1 - In the following question, select the related word pair from the given alternatives.
Canada: Ottawa::?:?
FfafEa w8 Ry 71g faeredt & € Hefda g g &t g

TS : SfeEr::?:?

Options:

1) Egypt : Cairo
e wifg

2) Norway : Havana
id ; garm

3) France : Rome
hiE : I

4) Kenya : Teheran
T A

Correct Answer: Egypt : Cairo

e wfg

Candidate Answer: France : Rome

g A9

QID : 2 - In the following question, select the related letters from the given alternatives.
JQXE:LSZG:: MTNL:?

fafafea vy § Ry g faredt & @ Gefda sreri st gfhgl

JQXE :LSZG:: MTNL:?

Options:
1) OPVN

2) KRPN
3) OVPN

4) OPLJ

Correct Answer: OVPN

Candidate Answer: OVPN

QID : 3 - In the following question, select the related number from the given alternatives.
7:48::11:?

FeafafEa w8 Ry g foeredt 7 @ wefda e &t gl
7:48::11:?

Options:

1) 120

2) 121

3) 131

4) 170
Correct Answer: 120
Candidate Answer: 120

QID : 4 - In the following question, select the odd word from the given alternatives.

FrfafEa us A Ry g foeredt 7 @ o g &t gHg)
Options:


http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=9008002313&scode=109&key=d8b9b72c733a7a528ea62ac0f2b79e7a
http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c

1) Square
aif

2) Rectangle
Kipc

3) Cylinder
CoEl

4) Triangle
Fragst

Correct Answer: Cylinder

Candidate Answer: Cylinder
EREl

QID : 5 - In the following question, select the odd letter from the given alternatives.

frfafea ue & Ry 1y e & 9 fawm sier &t gl

Options:
1A

2)s
3)U
"

Correct Answer: S
Candidate Answer: S

QID : 6 - In the following question, select the odd number from the given alternatives.

FafafEa v A Ry 77g foeredt 7 @ fasw e @t ghml
Options:

1) 216

2) 125

3) 343

4) 510
Correct Answer: 510
Candidate Answer: 510

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Dragon
2. Draculla
3. Dormont
4. Drapery
5. Deviate

Ffafad sl @t reaentsr A 11 aTel 3 & IgER ford |

1. Dragon
2. Draculla
3. Dormont
4. Drapery
5. Deviate

Options:
1) 53214

2) 53124
3) 53421

4) 53412

Correct Answer: 53214

Candidate Answer: 53214

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KV, LU, MT, ?

e S1eRH fear mar g, e § U ue g &1 iRy Y fenedt & & a5 9@l ey g, ST srgehd ot

KV, LU, MT, ?

Options:
1) NS

2)0s



3)0U

4) SN
Correct Answer: NS
Candidate Answer: NS

QID : 9 - In the following question, select the missing number from the given series.
3,4,5,4,9,10,6,16, 15,9, 25, 20,13, 36, ?
fafafea vy 8 Ry 7y et & @ g ofe 31 hifsgl

3,4,5,4,9,10,6, 16, 15,9, 25, 20, 13, 36, ?

Options:
1)17

2) 25
3)28
4) 31

Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]|

QID : 10 - The ratio of present ages of Anil and Aakash is 4 : 5. Three years later their ages will be in ratio 7 : 8. What is the present age (in years) of Anil?

ST TUT SATRIRT I TAAT ST T SITAT 4 : 5 § 1 <1 TS §1G SAeh! ST, AT STIUTT 7 © 8 BT SIQT | ST hl oA Sy (Tsf #) 1 82
Options:

1)8

2)6

3)4

4)10
Correct Answer: 4
Candidate Answer: 4

QID : 11 - Karan remembers that his sister's birthday is not after 18th August. Karan's mother remembers that Karan's sister birthday is before 20th August but after
17th August. On which date of August is Karan's sister birthday?

R I TS § T IThT F5T T ST 18 ST o STE -Tg) g | R chl AT oht 1% & foh T oY I8 o1 ST+AfeH 20 3R @ Ugd Afth 17 SRA & 15 & | e hl I8+ hl ST ST

& o g et 82

Options:

1)18

2)17

3)19

4) 20

Correct Answer: 18
Candidate Answer: 19

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Superconductors
g Mg uy #, Faffa et & @ a8 s gy St g g 2reg & s1eRt o1 wai shedh TEl s ST ek 21

Superconductors
Options:
1) Sports

2) Spunt
3) Stern

4) Spectrum
Correct Answer: Spectrum
Candidate Answer: Spectrum

QID : 13 - In a certain code language, "PEN-TAN" is written as "0". How is "DEN-COB" written in that code language?

U fAfAE e umar &, "PEN-TAN" & "0" foRar SI1dT &1 39 ahis 9wT & "DEN-COB" o fohd UehR forar siream?

Options:
1)8

2)3



3)9

4)7
Correct Answer: 3
Candidate Answer: 3

QID : 14 - If "+" denotes "multiplied by", "+" denotes "subtracted from", "=" denotes "added to" and "x" denotes "divided by", then which of the following equation is true?
gfg "+" o1 aref "Tqonr" B, "+ 1 3ref "wera” B, " o e "Sive” € @ "x" ot oref "' 8, At Fafafea d @ o a1 wfiensor wdt 82
Options:

1)16+19x21-5=201
2)5x6+4+3=37/6
3)6x3+12+3=21

418 x 6+8-12=36

Correct Answer: 18 x 6+8-12=36
Candidate Answer: [ NOT ANSWERED ]

QID:15-1f5#9@7=52and3 @9 # 2 = — 89, then
7#6@9="?
IRE#9@7=52qM3@9#2=-89a,

7#6@9="?

Options:

1) 67

2) 56

3) 43

4) 28

Correct Answer: 67

Candidate Answer: [ NOT ANSWERED ]|

QID:16-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T uy # Gy ow et F @ o e
(?) & TUT W HA arel T H g

3 17 2 16 6 13
11 4 10 7 15 2
Options:
1)1
2)2
3)3
4)4

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID:17-



How many friangles are there in the given figure?

& o g 3 Reet et &7

Options:
1)12

2)13
3)15

4)18
Correct Answer: 15
Candidate Answer: 15

QID : 18 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All stars are white.
1. All white are moon.
Ill. No moon is blue.

Conclusions:

|. Some moon are stars.

II. No blue is stars.

Ill. Some white are stars.
IV. Some blue are white.

12 ReQ 7Q udes U H © U SR Ik I16 I el IR STUTRA §© sy g g &, grtifen 3 g 71 aeat @ fradn g wendt 81 gt fsend ud ofk fiRr fraffa &1 fs g
Qg A § e g 77 et & ameR wR gReeTd &1

hY:

. Toft IR Tthe B
I1. Toft Ithe Tt §1
I1I. T3 e e T8l &1

fArseptf:

. 3 dig ar |

I1. g e arT T &

IIl. T e ar &

IV. & Hiel Tthe &1

Options:

1) Only conclusion (1), (1) and (11I) follow.
et Femef (1), (11) qar R (1) 9t &

2) Only conclusion (l1l) and (IV) follow.
hadt sy (111) qur sy (1IV) F@l 8l

3) Only conclusion (1), (I1) and (1V) follow.
et FsRe (1), (11) @ P (1V) 98 &

4) Only conclusion (1), (111) and (IV) follow.
Shaet fsand (I1), (I11) FT Aers (1IV) T8t &1

Correct Answer: Only conclusion (1), (I) and (lIl) follow.

Shaet s (1), (I1) T sy (1) Tt &1

Candidate Answer: Only conclusion (1), (I1) and (1ll) follow.

Shaet st (1), (I1) T sy (1) Tt 81

QID:19-



Three positions of a cube are shown below. What
will come opposite to face containing ‘5™?

= T ud A 1T FaEuT R T § HE
‘5’ Ul Bl U Hid |1 3 AM?

Options:
01

2)3
3)4

4)6
Correct Answer: 1
Candidate Answer: 1

QID: 20-
In the given figure, how many books are fiction?

& o el &, fraeh g aeuae &2

Printed / A
— H T s
g %/B\ 34\:1— Books / g¥dh
{ 'a
9 3 23\ %/’24_ Fiction /
7 FTeUTAH
Options:
1) 23
2)18
3) 53
4) 41

Correct Answer: 41
Candidate Answer: 41

QID: 21 -
Which answer figure will complete the pattern in the
question figure?

FT W TR AP TF JFla & ulaww & @@
FYaM?

?
>

(R

Options:



N

/

\\fe

S
=

»

Correct Answer:

/

Candidate Answer:

N

S

Correct Answer:

L
Candidate Answer:



Options:
1)

L

2)

L

3)

oo
oo

4

L
Correct Answer:

L
Candidate Answer:

QID: 24-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?
IfE oF TUOT F AB YT W @ &, o & T
oY FEEar # ¥ Sl @ g uy el
Ter ufafasa grefre
A
B
Options:
1)
2)
3)
4)

Correct Answer:

L
Candidate Answer:

L
QID:25-
("]

Options:
1) 43, 23, 55, 56

2) 33,30,67,75



3) 11,42, 86,98

4) 20, 04,79, 87
Correct Answer: 20, 04, 79, 87
Candidate Answer: 20, 04, 79, 87

QID : 26 - Which among the following is not an account under Balance of Payment?

fafafea 3 @ o a1 oram dqem & sfard ges @rar gl 82
Options:
1) Current Account
Tiel @rdr
2) Capital Account
qeiiTa @
3) Official Reserves Account
Qrdr
4) Unilateral Payments Account
Qeh-RhT T @l
Correct Answer: Official Reserves Account
SIRfE @

Candidate Answer: [ NOT ANSWERED ]|

QID : 27 -

L

Options:
1) 1-c,2-a,3-b

2) 1-b, 2-c, 3-a
3) 1-b, 2-3,3-c

4) 1-c, 2-b, 3-a
Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-b, 2-c, 3-a

QID : 28 - Who appoints Governor of a state in India?

R B I & TsguTe <ht fFRYRE T e 82

Options:
1) Prime Minister of India
VR & TYTH

2) Council of Minister

3) Judge of Supreme Court
gafed qrTerd a1 =qrrefer
4) President of India
IRd &

Correct Answer: President of India
IR &

Candidate Answer: President of India
IR &

QID : 29 - What is the literal meaning of 'Certiorari'?

‘IR TT IHTOT F 7 AT 82

Options:
1) We command
T
2) To have the body of
Tt Rl TIRR TG BT
3) To forbid
&THT h3AT
4) To be certified (or) to be informed
THATTO et AT

Correct Answer: To be certified (or) to be informed
THATIONT T AT

Candidate Answer: To be certified (or) to be informed
ATl

QID : 30 - Which among the following Mughal Emperor was illiterate?
frefafaa & § o a1 grre e sififaT ar



Options:

1) Shah Jahan
Mg STt

2) Aurangzeb
TS

3) Akbar
3heR

4) Jahangir
STEHTR

Correct Answer: Akbar
3TchsR

Candidate Answer: Akbar
3TchsR

QID : 31 - Where was the 'Azad Hind Fauj' founded?

'3MTSTIE @< WhisT i TATTHT gl 6l 718 off?

Options:
1) Singapore

2) Thailand

DIEC L

3) Britain

o

4) Italy

geett

Correct Answer: Singapore

Candidate Answer: [ NOT ANSWERED ]|

QID : 32 - Strait of Malacca separates which two land masses?

AR STSHEHE foh QY 9T Y SITRT el 672

Options:
1) Malay Peninsula and Indonesian Island of Sumatra
AT UTTEIY dT SSH=1T T Z19 AT

2) Africa and Europe
SRR AT IR

3) India and Sri Lanka
IR aUT 8fic

4) North America and South America

It srafRent aur gferoft smfRenr

Correct Answer: Malay Peninsula and Indonesian Island of Sumatra

T TR d2T $SIARmT 1 19 AT

Candidate Answer: Malay Peninsula and Indonesian Island of Sumatra

g UTTEIT qT AT 1 £ gamsT

QID : 33 - The latitude which passes through Sikkim also passes through .

fofere @ oA aren srerfyr @ SR oRaT 31

Options:
1) Haryana
gRaron

2) Rajasthan
ORI

3) Uttarakhand
IRETS

4) Himachal Pradesh
femmeer wer

Correct Answer: Rajasthan
ST

Candidate Answer: Uttarakhand
IREUS

QID : 34 - Which of the following is not a plant hormone?

FfefEa # @ o9 91 g =afdonTd I 8T ol 87
Options:

1) Gibberellic

ISEIGED

2) Auxins

iR

3) Cytokinins

BIEREIEE]

4) Thyroxin



ARIfRT

Correct Answer: Thyroxin

Candidate Answer: Thyroxin

QID : 35 - Nephron is related to which of the following system of human body?

Frfafea & § Arra R & g gomedt & Ahia defad §?

Options:
1) Circulatory system

2) Excretory system

3) Reproductive system

S Yottt

4) Respiratory system

g9

Correct Answer: Excretory system

Candidate Answer: Excretory system

QID : 36 - Which Vitamin is obtained from Sun rays?

T & foreoTt @ et &1 ferfa ura ghar 82
Options:

1) Vitamin A

[ECUEE]

2) Vitamin C

[ECIEER:)

3) Vitamin K

[ECIEEE:T

4) Vitamin D

[ECIEEES

Correct Answer: Vitamin D

Candidate Answer: Vitamin D

QID : 37 - Speed of light is maximum in .

_ # g fd gaifde g1

Options:
1) vacuum

2) solids
319 garef
3) liquids
et uaref
4) gases
T

Correct Answer: vacuum

Candidate Answer: solids

g uaref

QID : 38 - What is the Sl unit of electric current?

fereger &Y <h Q. oiT. Wik T 82

Options:
1) Newton
A

2) Joule

S
3) Ampere
AU

4) Watt
afe

Correct Answer: Ampere



Candidate Answer: [ NOT ANSWERED ]

QID : 39 - An IP address is bit number.

e figga_ fedens
Options:

1)8

2) 32

3) 64

4) 104
Correct Answer: 32
Candidate Answer: 64

QID : 40 - Process of loosing electrons is known as .

QR T R R IR A #ed Bl

Options:
1) oxidation

2) reduction
kiope

3) radiation

4) both oxidation and reduction
I T 3= gt

Correct Answer: oxidation

Candidate Answer: oxidation
Sfferfiepzor

QID : 41 - Anions are formed by .

FOMHE___ RIS &1

Options:

1) losing of electrons
AR AT

2) gavining of electrons

3) gaining of neutrons

4) losing of neutrons
M daH

Correct Answer: gaining of electrons
Candidate Answer: [ NOT ANSWERED |

QID : 42 - Which among the following is the major cause of acid rain?

frfafea & 4 swefla auf @1 g wror a1 82
Options:

1) Carbon dioxide

I STZ3TRITES

2) Carbon monoxide

P AATHTES

3) Nitrogen dioxide

ARG SE3HRIES

4) Oxygen

ST

Correct Answer: Nitrogen dioxide
SECICHIERS

Candidate Answer: Nitrogen dioxide

ATEEIoH SE3THES

QID : 43 - First state to implement Saur Sujala Yojana is .

__ ER Yl gieHT AN A arell ugell 59 g

Options:
1) Chattisgarh
BRIt

2) Uf(ta&anchal
RENEC]

3) Gujarat



4) Maharashtra
Correct Answer: Chattisgarh

Candidate Answer: Maharashtra

QID : 44 - Who is known for the invention of 'World Wide Web'?

‘Tos 15 39 a7 {3y et A9’ & ifashr & forg fFd S STrar 82

Options:
1) Sir Tim-Berners-Lee
W e s <t

2) Maxwell
Aade

3) Martin Cooper

féT FuR

4) S A Forbes

Tq. U. hisd

Correct Answer: Sir Tim-Berners-Lee

R fom o= ot

Candidate Answer: Martin Cooper

T R

QID : 45 - B. Sai Praneeth is associated with which of the following sport?

. wrg arfty’ e & & v Qe @ eifera 82

Options:
12 Hockey
gt

2) Badminton
Jefiies

3) Chess
AT
4) Boxing

Correct Answer: Badminton

Candidate Answer: Badminton

QID : 46 - Which of the following pair is incorrect?

fafafea § @ i a1 Sier w8t 78 82
Options:

1) Muthuswami Dikshitar - Carnatic Music
gt Siferd - wefees difta

2) Parveen Sultana - Singer

3) M.S. Gopalakrishnan - Violinist

TH. Q9. MUTH - Jferaradh

4) Nandlal Bose - Flute

TS I - &

Correct Answer: Nandlal Bose — Flute
TS I - &

Candidate Answer: Nandlal Bose - Flute
AT I - S

QID : 47 - Who among the following is the 2017 Asian Award recipient for the outstanding achievement in Cinema?
frfafed & & & Fe & &5 | IPE Ttherd & g 2017 & YRR JRERR UTeadhd! 87

Options:

1) Kunal Nayyar
PUITA TR

2) Vishal Bhardwaj
[ERICRNTrA ]

3) Om Puri

3

4) Zeishan Quadri
IR
Correct Answer: Kunal Nayyar

PUITT TR

Candidate Answer: Kunal Nayyar



PUITT TR

QID : 48 - Who amongst the following is the author of the book "Rekha : The untold story" a biography on a veteran actress Rekha?

frafafea 3 & frg oRaes gRT argvelt arfersh 3 i Sitet " : i srdies Wt foredt 71 82

Options:

1) Yasser Usman

IR IqAH

2) Anand Neelakantan

e :

3) Ram Kamal Mukherjee

W A i

4) K. Vijay Kumar

&. foorg AR

Correct Answer: Yasser Usman

IR ITHH
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Which among the following country exited from Trans Pacific Partnership (TTP) in Jan 2017 ?

fafafea 7 @ a9 a1 3 SFat 2017 # g 3Rt urd=Rm § amex fReer mar?
Options:

1) Japan

STaT

2) USA

TGh I SRR

3) Mexico

AfRyent

4) Brunei

Correct Answer: USA
Tg<h ISy IAREAT

Candidate Answer: Mexico

QID : 50 - Which of the following country doesn't matches to its famous tourist place?

f=fafaa & g o ar 2 oraa ufRig wies wie @ a« 78! @rarn

Options:

1) China - Great Wall of China

I — 7 <t fasme Sar

2) Bhutan - Paro Taktsang

Y — dAThETS

3) Nepal - Pashupatinath Temple

JUTel — URIUeATe HiR

4) Sri Lanka — Padmanabhaswamy Temple

Correct Answer: Sri Lanka — Padmanabhaswamy Temple
Candidate Answer: Sri Lanka — Padmanabhaswamy Temple

QID : 51 - How many numbers are there from 2000 to 7000 which are both perfect squares and perfect cubes?

2000 & 7000 ek Qeft foraft eamd & St gof avf qer gof o= i &7
Options:

Correct Answer: 1

Candidate Answer: 1

QID : 52 - 3 men or 4 women can complete a job in 120 days. 12 men and 16 women will complete the same job in how many days?

3 QW 37T 4 ARSI ok St 120 Rl A OR1 R Gehdt 8112 YN T 16 AfGATS I i it fena AT # gy anenl?

Options:
1)12

2)14
3)15

4)18
Correct Answer: 15



Candidate Answer: 15

QID : 53 - If the diameter of a hemisphere is 21 cm, then what is the volume (in cm3) of hemisphere?

e uen 3ref et et e 21 .. g, 3ref it et S (8.3 &) fha ghm?

Options:
1) 2810

2) 1250.5
3) 1725.25
4) 2425.5

Correct Answer: 2425.5
Candidate Answer: 2425.5

QID : 54 - After two successive discounts of 20% and 12% an article is sold for Rs 16896. What is the marked price (in Rs) of the article?

20% 4T 12% T 3 hffieh e o I1& Yo a¥g I 16896 3. H a4 ST 1 9 o1 Sifehd Ted (3. H) T 8?

Options:
1) 21500

2) 23800
3) 22000

4) 24000
Correct Answer: 24000
Candidate Answer: 24000

QID : 55 - The ratio of speed of three racers is 3 : 4 : 6. What is the ratio of time taken by the three racers to cover the same distance?

f= eraent Y If T STIUTA 30 41 6 81 T G 99 & # S GIRT ford T8 FHY ST STIOTd T T
Options:

Correct Answer: 4:3:2
Candidate Answer: 4:3:2

QID : 56 - In a match, average of runs scored by 7 players is 53. If the runs scored by 6 players are 121, 40, 26, 56, 37 and 48, then how many runs did the 7th player
scored?

o A9 A 7 faenfedt & gRr 9-1Q 7 A1 Frsfiad 53 §1 9 6 faenfeat & grr s=mg 1y 7 121, 40, 26, 56, 37 9uT 48 §, a4t 7 3 fRemmet 7 foham 39 s=mg ghi?

Options:

Correct Answer: 43
Candidate Answer: 43

QID : 57 - Mohit buys an old bicycle for Rs 2700 and spends Rs 500 on its repairs. If he sells the bicycle for Rs 3520, then what is his profit percentage?

Tifed Tep QR Trsfihet 2700 %. H Wiear & a7 500 %. ITh! AR R W ohedl 8| IfS ag TTfohet sl 3520 %. & SdT &, df ITehT a1 ufasrd foramm &2
Options:

Correct Answer: 10
Candidate Answer: 10

QID : 58 - If the price of onion increases from Rs 24/kg to Rs 36/kg, then by what percentage a household should decrease the consumption of onion so that
expenditure remains same?

I &S T e 24 F. Ul .. & 36 <. uf f3n.am. 8t 511 8, ot gon Tevht &t et & @ud fhaw nfaerd o &t a1 afes saa g 382
Options:

1) 25

2)33.33

3)50

4)20

Correct Answer: 33.33

Candidate Answer: 33.33

QID : 59 - A train travels 20% faster than a car. Both start from point A at the same time and reach point B, 180 km away at the same time. On the way the train takes



30 minutes for stopping at the stations. What is the speed (in km/hr) of the train?

ek IEATET Ueh R & 20% a1 Ieicht g1 &1 fiig A & Ter & 993 TR YR &hed & 21 180 fh.#t. gr fq fiig B wR vk €t gmy iR ugad &1 At & Yo R iR w4 & forg 30 fme
o<t B TSt Y wifey (R, ufy der 7) @ &2

Options:

1) 56

2) 66

3)72

4) 80
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]|

QID : 60 -

L

Options:
1)3

2)2
3)4
46

Correct Answer: 2
Candidate Answer: 2

QID : 61 - If (x/y)@* = (y/x)22°5, then what is the relation between x and y?

e (x/y)24 = (y/x)225, dt x qu y & offer o sy &2

Options:

x>y

2) Cannot be determined

1 &} fohan ST Fepar

3)x<y

4)x=y

Correct Answer: Cannot be determined
1 &1 foram ST Fepar

Candidate Answer: Cannot be determined
19 &1 foram 1 Fepar

QID : 62 -
e

Options:
1) 25/7

2)4
3)31/7

4) 33/7
Correct Answer: 25/7
Candidate Answer: [ NOT ANSWERED |

QID : 63 - If 3a - (3/a) — 3 = 0, then what is the value of a® — (1/a8) + 27
gf& 3a - (3/a) - 3=0,d a3 - (1/a3) + 2 HIAF AT &?

Options:
1)0

2)2
3)4

4)6
Correct Answer: 6
Candidate Answer: 4

QID: 64 -

L



Options:
1)7/2

2)4
3)7

4)14
Correct Answer: 7
Candidate Answer: 7

QID : 65 - In AABC, AD is the median and AD = (1/2)BC. If £ACD = 40°, then what is the value (in degrees) of ~DAB?

33T ABC #, AD #feiiehT & @21 AD = (1/2)BC &1 afd £ACD = 40° &, @ «DAB @1 A (f&ift ) @ ghm?

Options:

1) 30

2) 40

3) 50

4) 80

Correct Answer: 50
Candidate Answer: 40

QID : 66 - Circum-centre of AABC is O. If Z£BAC = 75° and £BCA = 80°, then what is the value (in degrees) of Z0AC?

3T ABC &1 uRdhs O 81 af £BAC = 75° duT £BCA = 80° &, @ £ OAC a1 a1 (fe&ft &) aram ghm?
Options:

Correct Answer: 65
Candidate Answer: 65

QID : 67 - Smaller diagonal of a rhombus is equal to length of its sides. If length of each side is 4 cm, then what is the area (in cm?) of an equilateral triangle with side
equal to the bigger diagonal of the rhombus?

Toh THAGYST o1 BieT frenof ITehT yetail Y oTvard o sRIeR &1 A Tedich Yot ht ovats 4 A7, 8, 3t 37 Tmeg Rogs ot et (3.701.2 &) o g SRt oo Tmag et & 9 farenof
& SRR &2

Options:
16

2)9v3
3)12

4)12v3
Correct Answer: 12v3
Candidate Answer: 12v3

QID: 68 -
L

Options:
1) 47

2) 68
3)72

4) Cannot be determined
1 Y foham ST Fepar

Correct Answer: 68
Candidate Answer: 68
QID : 69 - What is the simplified value of (cos A + sin A)(cot A + tan A)?

(cos A + sin A)(cot A + tan A) T el | RIT 82

Options:
1) sec A+ cosec A

2) sin A+cos A
3)tan A+cotA

4) sec A - cosec A
Correct Answer: sec A + cosec A



Candidate Answer: sec A + cosec A

QID:70-

L

Options:
1) v2sec A
2) V2 cosec A

3)sec2A

4) 2sec A

Correct Answer: v2 sec A
Candidate Answer: v2 sec A

QID: 71 -1f 2 cos 6 = 2 - sin 6, then what is the value of cos 6?

7f& 2 cos 6 = 2 — sin B, G cos 6 T A T gHI?

Options:

1) 10or3/5
13a13/5
2)1or-1/2
1ar-1/2
3)-10r-1/2
-1ar-1/2
4) -10r3/5
-13a13/5
Correct Answer: 1 or 3/5
13a13/5

Candidate Answer: [ NOT ANSWERED ]

QID:72-
L

If the total trade of the country in year 3 was 1183 crore dollars, then what was the difference (in crore dollars) between exports and imports of the country in that
year?

Ifg A Ay 3 H HoT AR 1183 TS Sher T, dt I I 221 & SaTd Jout Fafa & e ot iR (e Sferk #) favar ur?

Options:
1) 169
2)173
3) 142
4) 158

Correct Answer: 169
Candidate Answer: 169

QID:73-
L

The total trade for Year 2 and Year 4 is same. If exports of Year 4 are 315 crore dollars, then what are the imports (in crore dollars) of Year 2?

e 2 qur af 4 1 Hot ATIR TAE &1 S a 4 1 FFafd 315 e Sfer &, aF anf 2 1 ST (e STer H) fhear 82

Options:
1) 306.4
2) 309.8
3) 323.7
4) 318.5

Correct Answer: 318.5
Candidate Answer: [ NOT ANSWERED ]

QID:74-
L

Total trade of Year 1 is twice of the total trade of Year 5. If total trade of Year 1 is 5700 crore dollars, then what is the difference (in crore dollars) in exports of Year 1
and Year 5?

e 1 T Gl ATIR TN 5 & FeT ATIR T ST 81 AfE I 1 T el ATIR 5700 IS SheR 5, dt a9 1 a1 a¥ 5 & fFafd 7 e siek (s Sier #) ghm?

Options:

1) 1835

2) 1632

3) 1368

4) 1423

Correct Answer: 1632

Candidate Answer: 1632

QID:75-



L

The total trade of 5 years is 3800, 3600, 2800, 3900 and 5000 crore dollars respectively. What is the difference (in crore dollars) in the average exports and average
imports respectively?

5 99T ol el AR AT 3800, 3600, 2800, 3900 T 5000 IS SIeR &1 ThAST: S Fafa aum sieaH smard # fhaer SiaR (e Sfek #) 82
Options:

1) 60

2) -60

3) -90

4)120

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

On Sundays (1)/ | prefer reading (2)/ than going out visiting my friends. (3)/ No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

Rohit is two year (1)/ junior than Mukesh (2)/ in the office. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

God is .

Options:

1) immanent

2) mortal

3) imminent

4) deference

Correct Answer: immanent

Candidate Answer: imminent

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Riya ____ her matriculation examination in 2016.
Options:

1) completed

2) passed

3) obtained

4) gathered

Correct Answer: passed
Candidate Answer: [ NOT ANSWERED ]

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Articulate
Options:

1) Dominate
2) Distinct
3) Helpers
4) Unsteady

Correct Answer: Distinct
Candidate Answer: Dominate

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ascend



Options:

1) Lay

2) Climb

3) Weaken

4) Void

Correct Answer: Climb
Candidate Answer: Climb

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Waggish
Options:

1) Jocular

2) Whimsical
3) Flippant
4) Solemn

Correct Answer: Solemn
Candidate Answer: Whimsical

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Desecrate
Options:
1) Sanctify
2) Profane
3) Befoul
4) Defile

Correct Answer: Sanctify
Candidate Answer: Sanctify

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Will-o-the wisp

Options:

1) Something that is impossible to get or achieve.
2) To keep off an unwanted and undesirable person.
3) To spend recklessly.

4) Accept or leave the offer.

Correct Answer: Something that is impossible to get or achieve.
Candidate Answer: To spend recklessly.

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To go through fire and water

Options:

1) To scold someone

2) To experience many dangers in order to achieve something
3) To act without restraints

4) Something which hurts

Correct Answer: To experience many dangers in order to achieve something
Candidate Answer: To act without restraints

QID : 86 - Improve the bracketed part of the sentence.

We do not (agree on) certain things.
Options:

1) agree to

2) agree about

3) agree of

4) No improvement

Correct Answer: No improvement
Candidate Answer: agree to

QID : 87 - Improve the bracketed part of the sentence.

There are two pens here and (either write) well.
Options:

1) either have written

2) either wrote well

3) either writes

4) No improvement

Correct Answer: either writes

Candidate Answer: either writes

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.



A strong blast of wind.
Options:

1) Implosion

2) Trickle

3) Gust

4) Mantle

Correct Answer: Gust
Candidate Answer: [ NOT ANSWERED ]|

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Phobia of dogs
Options:

1) Orophobia

2) Cynophobia

3) Vatrachophobia
4) Phemophobia

Correct Answer: Cynophobia
Candidate Answer: Cynophobia

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Bulettin

2) Barrage

3) Buoyant

4) Beginner

Correct Answer: Bulettin

Candidate Answer: Buoyant

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Guidance

2) Ambassador

3) Handkercheif

4) Labourer

Correct Answer: Handkercheif
Candidate Answer: Handkercheif

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: He was a funny looking man with a high, bald, done shaped head, a face very small in comparison and a long wavy beard.
Q: He didn't work at his trade-a stonecutter, more than what was necessary to keep his wife and three boys alive.
R: His unusual features were standing a joke among his friends.

S: He was a poor man-an idler.

Options:

1) PRQS

2) QPSR

3) RQPS

4) SRPQ

Correct Answer: PRQS

Candidate Answer: PRQS

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: When all the credit worthy people were given loans to a logical limit, they ceased to be a part of the market.

Q: Even this would have been understandable if it could work as an eye opener.

R: Owing to the materialistic culture elsewhere, it was possible to keep selling newer products to the consumers despite having existing ones which served equally
well.

S: They were lured through advertising and marketing techniques of 'dustbinisation’ of the customer; and then finally, once they became ready customers, they were
given loans and credits to help them by more and more.

Options:

1) PRQS

2) RSPQ

3) QSPR

4) RPQS

Correct Answer: RSPQ

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the
same sentence in Passive/Active voice.

John was arrested on a charge of murder, but for lack of evidence he was released.
Options:



1) The police arrested John on a charge ot murder, but tor lack of evidence released him.

2) John was arrested on a charge of murder but was released for lack of evidence.

3) The police arrested John on a charge of murder, but for lack of evidence he was released.

4) John had been arrested on a charge of murder, but for lack of evidence he had been released.
Correct Answer: The police arrested John on a charge of murder, but for lack of evidence released him.

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

He said, "l saw a snake here."

Options:

1) He said that he had seen a snake there.

2) He said that he saw a snake here.

3) He said that he saw a snake there.

4) He said that he had seen a snake.

Correct Answer: He said that he had seen a snake there.

Candidate Answer: He said that he had seen a snake there.

QID : 96 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

Morality is with ethics and symbolises the doctrine of actions right or wrong.
Options:

1) discussed

2) identified

3) recognised

4) rectified

Correct Answer: identified

Candidate Answer: identified

QID : 97 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

Politics is the of expediency
Options:

1) source

2) collection

3) requirement

4) notion

Correct Answer: notion
Candidate Answer: notion

QID : 98 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

and need not alwaysbe _____.
Options:

1) wrong

2) right

3) neutral

4) different

Correct Answer: right

Candidate Answer: right

QID : 99 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

If something is wrong and _____ expedient,
Options:

1) merely

2) essentially

3) surely

4) hardly

Correct Answer: merely



Candidate Answer: essentially

QID : 100 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

it cannot be .
Options:

1) justifiable

2) relevant

3) acquired

4) immoral

Correct Answer: immoral

Candidate Answer: acquired



